
Aire et Volume d’un Tronc de Cône (E)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
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r1 = 63,46 yd

h = 71,63 yd

r2 = 32,49 yd1.

r1 = 45 hm

h = 90 hm

r2 = 15 hm2.

r1 = 105,0 nm

h = 132,5 nm

r2 = 50,0 nm3.

r1 = 68,4 ft

h = 106,2 ft

r2 = 39,6 ft4.
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Aire et Volume d’un Tronc de Cône (E) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 63,46 yd

h = 71,63 yd

r2 = 32,49 yd1.

Aire: 39.491,58 yd2

Volume: 535.920,91 yd3
r1 = 45 hm

h = 90 hm

r2 = 15 hm2.

Aire: 24.951 hm2

Volume: 275.675 hm3

r1 = 105,0 nm

h = 132,5 nm

r2 = 50,0 nm3.

Aire: 112.348,2 nm2

Volume: 2.605.100,3 nm3

r1 = 68,4 ft

h = 106,2 ft

r2 = 39,6 ft4.

Aire: 56.958,9 ft2

Volume: 995.946,9 ft3
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